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QUESTION 1

Which three statements are true regarding Managing Units of Measure? (Choose three.)

A. A unit of measure conversion is a mathematical relationship between two different units of measure.
B. You must define a unit of measure class with a base unit of measure.

C. Non-standard, intraclass conversion rates can\\'t be item specific.

D. A unit of measure standard conversion specifies the conversion factor by which the unit of measure is equivalent to
the unit of measure class.

E. If you want to transact items in units of measure that belong to classes other than their primary UOM class, you must
also define conversions between the base units of measure of the different UOM classes.

Correct Answer: ABE

QUESTION 2

Which two statements are true about Planning Security? (Choose two.)

A. If a plan is set up as private, there is no way to further limit what users see within the plan.
B. If a plan is set up as public, there is a way to further limit what users see within the plan.

C. Data access sets can be used to limit what a planner can see. based on Items, Organizations, Carriers, Suppliers,
and Customers.

D. A plan can be set up to be public or private.

Correct Answer: CD

QUESTION 3
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:upply Planning Exceptions

Demand Quantity Not Satisfied (0)
Demand at Risk Due to Insufficient
Demand at Risk Due to Resource S
Demand at Risk Due to Supplier Ca
Items Below Safety Stock (18)
Items with Excess Inventory (383)
Items with Expired Lots (0)

Items with a Shortage (8)

Late Replenishment for Forecast (0)
Late Replenishment for Sales Order |
Late Supply Pegged to Forecast (2°
Late Supply Pegged to Sales Order ’
Qrder Sourced from Alterate Facility
Order Sourced from Alternate Supg
Orders To Be Canceled (0)

Orders To Be Rescheduled In (121)

Orders To Be Rescheduled Out (28!

When creating a new replenishment plan, what are the required plan options?
A. Segment Group. Segments. Policy Assignment Set

B. Segment Group. Inventory Policies. Policy Assignment Set

C. Segment Group. Segments. Inventory Policies

D. Segment Group. Segments. Inventory Policies. Policy Assignment Set

Correct Answer: A

QUESTION 4

A global company is subject to differing regulations regarding hazardous materials in a product. Version 1 of the product
can be sold in North America and Europe. Version 2 of the product can only be sold in Europe.

Which sequence of setups could help a planner ensure that supply is available in a timely fashion per these
constraints?

A. Create an attribute-based netting rule using region and version; map the rule to collectible attributes; associate the
rule to a supply plan; run the plan.

B. Define region and version as planning attributes; map them to collectible attributes; create an attribute-based netting
rule using region and version; associate the rule to a supply plan; run the plan.

C. Define region and version as planning attributes; create an attribute-based netting rule using region and version;
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associate the rule to a supply plan; run the plan.

D. Define segment groups based on region and version; execute segmentation; map the segmentation results to an
attribute-based netting rule; associate the rule to a supply plan; run the plan.

Correct Answer: D

QUESTION 5

What are two characteristics of an “Item\\' organization? (Choose two.)

A. It includes parameter definition, including lot. serial number, and item sourcing rules.
B. It requires financial and accounting setups.

C. It does not physically of financially track material storage or movement.

D. Itis ideal for deployments where inventory management may not be installed.

Correct Answer: CD
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